[ Efficiency vs vertpos |
- 05

Ratio
P
N

B T R

0.9 : :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimwP2_epoch4

0.8

N C

o - : : : : :

> 0.7F------ CERELETETITETERE CECELRLELSTRTERE Bepeee

(2] _ . . . . .

z E : : : : :

& 0.6F------ CERREERD REPEES Beeeenee ERREEPIES Bebeee

c o : : : : :

[} o : : : : :

(8] ... L L [ W

g OSp

o E : : : : :
0.4F----- R S A e R
T 1
02b i),
0 i

o la:. L1 I L t

I E : :

L N
0.9F------i.- ) S
%835 —=20 -10 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> : : : : : : :
T e S R S S S S
= : : : : : :
7 0.16
£0.14F
& o
€ 0.12F
0.1
0.08F
0.06F
0.04F
0.02

i S

efticie

o +0F :

T F 1k

1T S AT 5o
O 2 0 T E R § BRSO
20-15-10 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


